jaypro
&/ sports

PVB-CENTER PACKAGE
FOR 2nd FLOOR SYSTEMS

APPLICABLE MODELS

PVBC-250
PVBC-270

WWW.JAYPRO.COM



The DOUBLE COURT

A double court set up is made up utilizing a regular single court set of standards and the Center Court
Package (PVBC-250 or PVBC-270). A complete Center Court Package is shown on page 3. Any and all
parts are available through your dealer or by contacting Jaypro Sports directly at 800-243-0533 and on
the web at www.jaypro.com. Our knowledgeable sales staff will be happy to assist you and make sure
you have everything you need to set up a complete Double Court. Jaypro equipment is produced to
high standards to give you years of safe play.

IMPORTANT

The side by side systems must be tensioned simultaneously to prevent over tensioning the end
standards.

SEE DETAIL A

STANDARD UPRIGHT WITH WINCH
(PROVIDED SEPARATELY)

CENTER KIT UPRIGHT

STANDARD UPRIGHT
(PROVIDED SEPARATELY)

WWW.jaypro.com Page 2



http://www.jaypro.com/
http://www.jaypro.com/

SAFETY

1. FOR SAFE OPERATION AND CONTINUED HIGH PERFORMANCE FROM THIS EQUIPMENT,
INSPECTION AND MAINTENANCE MUST BE PERFORMED BEFORE EACH USE.

2. USE OF THE EQUIPMENT OTHER THAN INTENDED, MAY BE HAZARDOUS.

3. ALTERATION OR MODIFICATION OF EQUIPMENT MAY BE HAZARDOUS. FOR REPAIR OR

REPLACEMENT, PLEASE CALL YOUR DEALER.

CENTER KIT PACKAGE

[T 7777777/
(77777777

Yy

7

ITNSSSSNN/
TSNS SNNN/

NSNS

[

(LS LSS
(/777777

ITEM

QTY

DESCRIPTION

3 % in UPRIGHT

CENTER UPRIGHT KIT

CENTER PAD

CENTER STRAP

FLEX-NET

VOLLEYBALL WINCH

BASE

(N[O Un|hW|N

NR|R|[R|IN|R R |-

CENTER BASE PAD

Www.jaypro.com

Page 3


http://www.jaypro.com/

DETAIL A
CENTER ADAPTER KIT

ITEM QTY DESCRIPTION
1 1 CENTER UPRIGHT INSERT
2 1 EYEBOLT 3/8-16 x 3 1/2in
3 1 EYEBOLT 3/8-16x 3 in
4 1 EYE NUT 3/8-16
5 1 NYLOCK NUT 3/8-16
6 1 ACORN NUT 3/8-16
7 1 BUTTON HEAD SCREW 3/8-16
8 1 FLAT WASHER 3/8 in
9 1 CAP

Installation of Floor Anchors

1. Install the floor anchors in accordance with the instructions provided with the anchors.
2. Refer to the floor layout, as shown on page 5, for proper location of the anchors.
3. Double check the anchor locations by placing the base over the planned spots.

ASSEMBLY INSTRUCTIONS

1. Unpack unit and check to see that unit is undamaged and complete as shown. Read all assembly
instructions and caution labels carefully.

2. Unitis designed to fit a 3 1/2 in diameter 10 inch deep sleeve. Refer to the Double Court Layout
Illustration for location of ground sleeves.

WWW.jaypro.com Page 4



http://www.jaypro.com/

3. Uprights are heavy and it is imperative to have two persons lift and place into ground sleeve.
Final configuration will have a Volleyball winch on each outside standard.

4. Assemble Center Standard as shown in Detail A. Refer to the system installation instructions to
assemble the outer uprights.

5. Position the base over the anchors and secure it in place.

6. Insert the center upright into the base and position the eyebolts in line with the net. Secure the
upright in place by tightening down the four (4) set screws.

7. Install the pads around the upright and over the base as shown on page 2.

DOUBLE COURT LAYOUT FOR PVB-2500 / PVB-2700

99"
—-——| 2" (5 CM) PAINTED
3 METER!
( | S) LINES OR COURT TAPE
— 0 ] 0 i
o 1 2
(15 CM) 6-6" (5 CM)
PAINTED LINES OR
g" 196" COURT TAPE
20CM (6 METERS)
16%" ANCHOR HOLES
SIZE PER ANCHOR
INSTRUCTIONS
[REE I 99"
CENTERLINEi (3 METERS)
17" ON CENTER T
8%" ANCHOR HOLES 9.9
SIZE PER ANCHOR (3 METERS)
INSTRUCTIONS
81/2u la—
CENTERLINE 19-6"
\ (6 METERS)
0 D ] g
29'-6"
~ (9 METERS) =
e 35"10" TO 36'-0" 35-10" TO 360" ———————=

COURT DIMENSIONS SHOWN COMPLY WITH SPECIFICATIONS FOR:
US.V.B.A
F.LV.A.
N.C.A.A.
COURT SIZE SPECIFICATIONS FOR THE N.F.S.H.S.A. ARE 30’ W x 60°L
CENTER LINE TO BE 4”” WIDE
SPIKE LINE TO BE 10’ FROM CENTER LINE
SERVING AREA TO BE 10’ LONG

WWW.jaypro.com Page 5


http://www.jaypro.com/

140 L _
:133HS

1 SUNoW -

-:Ad NMyHd A

elLoerserl

:31va

wooroidAelmmm
£9c€-886(008) :Xe4 £ES0-ErE(008)

NOILVTIVLSNI 3OVXOVd ¥31N3D

JWVYN 19NJ0Hd

WS G8E90 1O ‘PIOSIEM
ofiduin L PIcRieH 926

EI8L TN DBV Y
BOHYRR NOLYACHAT

aAwn
A8 ODIHO

7 0.¢-089Ad / 05¢-09Ad

*HIGWNN 1IAON

Sl )
AR Y

avd 3sv8 §3IN3D - d20¢-8Ad 4 g

0/¢/052-08Ad d04 3Svd INVHSH - MO0ST-89Ad 3 2

HONIM TTVEATTIOA - HONIMEAL 3 9

18N-xald4 - 9-NGAd 3 s

ATEWISSY dVlLS ¥IIN3O| H €00098Ad < 14

avd AdVANYLS H31N3D - d2001-9Ad l €

Q0 271 € LI LHORdN Y3.LNTD gnd - 05¢-8Ad 3 4

(3LON 33S) LHDIHdN QYYANYLS H3LN3D - N-8Ad 3 3
NOILJIYOS3A A # ldvd ALD W3aLl

¥ sped

abeyoed Jayual s|geisnipy Aja)unu| J0oj4 puodas 0/2-09Nd
abeyoed Jajua) doyg uid 1004 puoseg 0S¢-08Ad

JWVYN 13A0N # 1300N

o|qel

0/2-09Ad H0O4 N0.LZ-9Ad -

062-29Ad HO4 N0SZ-9Ad -

‘J10N-

° avd 3sva ¥3INgo— ¥V 1IVL3d

dZ ‘M3IY0S 13S aH IYVNOS .2/} X 91-.8/€ (+) (ALD

Www.jaypro.com

Page 6



http://www.jaypro.com/

